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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 6698 0.9 0.2 1 94.8 99.8
2 6679 2.9 1.5 6 48.3 99.5
3 6547 0.9 0.3 1 88.5 97.5
4 6686 8.1 3.9 19 42.8 99.6
5 6662 5.7 2.5 11 52 99.2
6 6639 2.7 1.5 6 44.3 98.9
7 6666 6.3 3 14 45.2 99.3
8 6644 3.6 2.8 13 28 99
9 6254 2 2.2 9 22.2 93.2
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question Answer AO1 AO2 AO3 Total 
mark 


 (b) Describe the expected pattern of language 
development of a child. 
 
Award up to 6 marks for a description of the expected 
pattern of language development of a child. 
 
Likely answers may include: 
• children develop language skills at a very rapid 


rate between the ages of 0–5 
• language can be split into two sections; non-


verbal and verbal communication 
• when a child is born it can communicate its needs 


through crying and facial expressions 
• children start to communicate verbally through 


babbling and then through using one or two words 
– then start stringing two words together, and then 
three, and then whole sentences. 


• once a child is two, they have a vocabulary of a 
few hundred words, this will increase rapidly 


• the rate of vocabulary development is influenced 
by how much speech they are exposed to 


• by around age six, a child has a vocabulary of 
around 10,000 words – by eight a child will be 
able to hold adult-like conversations. 


 
Credit any other reasonable description of the 
expected pattern of language development of a child. 
 


6   6 


Band AO1 


3 
5-6 marks 


A very good response which shows detailed knowledge and understanding of the 
expected pattern of language development of a child. 


2 
3-4 marks 


A good response which shows some knowledge and understanding of the expected 
pattern of language development of a child. 


1 
1-2 marks 


A limited response which shows little knowledge and understanding of the expected 
pattern of language development of a child. 


 0 marks 
Response not credit worthy or not attempted 
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This candidate has given a basic response. They have included a few examples of some of the 
characteristics of language development and have given a few examples of ages where these 
developments may be seen. A more detailed explanation needed for higher band marks. 2 marks 
band 1.


Example 2


This candidate has included some specific examples of characteristics and ages where these may 
be expected to be seen. They have provided a good response which shows the stages and 
progression of a child’s language development. A more detailed response with further examples 
would be needed to achieve band 4. 4 marks band 3.
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Example 3


This candidate has provided some good examples of language development along with expected 
ages. A more detailed response would be required with further examples of language 
development and ages to achieve band 4 marks. 4 marks band 3.


Q 8 b-
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3.	 Underline the correct term to complete the sentence below:


The time during middle adulthood when a woman’s monthly bleeding cycle stops is called 
menstruation / menopause. [1]


Type of relationship Characteristic


Family Support


Intimate, personal and sexual (i)


Working (ii)


Friendship (iii)


4. (a)	 Identify one different characteristic for each type of relationship. [3]


The first one has been completed for you.


4.  (b) Describe the expected pattern of language development of a child. [6]












Example 1-












Example 2- 


Example 3-












Example 2- 


This candidate has provided a basic response which highlights a few emotional benefits of being 
an active partner. Further examples and more detail would be required to achieve higher band 
marks. This would show more detailed knowledge and understanding of the topic area. 2 marks 
band 1.


Example 3-
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Question Answer AO1 AO2 AO3 Total 
mark 


8. (a) Dorothy is a 78-year-old widow, who lives alone. She 
has recently been feeling socially isolated. 
 
Define the term ‘neglect’. 
 
Award 1 mark for a basic response and up to 
2 marks for a clear definition of neglect. 
 
Possible answers to include: 
• Neglect – fail to care for 
• Lack of caring/care 
• Failure to provide physical needs 
• Failure to provide emotional needs 
• Examples that illustrated neglect e.g. withdrawal 


of food/love 
• Being treated inhumanely 
• Abandoning 
 


2   2 


 (b) Dorothy has chosen to move into residential care. Her 
care worker has the responsibility to inform Dorothy 
about all aspects of her care and encourage her to be 
an active partner in her care. 
 
Explain the benefits of being an active partner on 
Dorothy’s well-being. 
 
Possible answers to include: 
 
Benefits of being an active partner on Dorothy’s well-
being: 
• Voice/choice/control 
• Promoting effective communication and 


relationships will provide her with information on 
which she can base her decisions. By making an 
informed choice she is promoting her 
independence and dignity which will make her feel 
very positive. Dorothy now has the individual right 
to make decisions.  


• Empowerment will improve her quality of life and 
therefore her emotional well-being. It will provide a 
balance between control and assistance, making 
her feel valued.  


• Acknowledging her personal beliefs and identity. 
She will be treated with respect and will have the 
choice to be different, thereby acknowledging her 
diversity which in turn will improve her self-
concept and self-esteem 


• Protect her from abuse and neglect so less 
vulnerability 
 


Credit any other reasonable answer. 
 


 5  5 
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Band AO2 


3 


5 marks 
An excellent response which shows detailed knowledge and understanding to explain the 
benefits of being an active partner on Dorothy’s well-being. 
The response explains thoroughly and includes relevant examples to clearly illustrate the 
points made. 


2 
3-4 marks 


A good response which shows knowledge and understanding to explain the benefits of 
being an active partner on Dorothy’s well-being. 
The response explains clearly and includes examples to illustrate the points made. 


1 
1-2 marks 


A basic response which shows some knowledge and understanding to explain being an 
active partner on Dorothy’s well-being. 
The response explains with some reference to examples to illustrate the points made. 


 0 marks 
Response not credit worthy or not attempted 


 


  












Example 1-


This candidate has used examples to demonstrate the benefits of being an active partner. They 
have provided a good response and have provided a range of benefits. A little more detail on the 
emotional benefits would have helped the candidate reach band 3. 4 marks band 2.







Example 1-


This candidate has used examples to demonstrate the benefits of being an active partner. They 
have provided a good response and have provided a range of benefits. A little more detail on the 
emotional benefits would have helped the candidate reach band 3. 4 marks band 2.












Example 2- 


This candidate has provided a basic response which highlights a few emotional benefits of being 
an active partner. Further examples and more detail would be required to achieve higher band 
marks. This would show more detailed knowledge and understanding of the topic area. 2 marks 
band 1.


Example 3-







Example 1-


This candidate has used examples to demonstrate the benefits of being an active partner. They 
have provided a good response and have provided a range of benefits. A little more detail on the 
emotional benefits would have helped the candidate reach band 3. 4 marks band 2.












Example 2- 


This candidate has provided a basic response which highlights a few emotional benefits of being 
an active partner. Further examples and more detail would be required to achieve higher band 
marks. This would show more detailed knowledge and understanding of the topic area. 2 marks 
band 1.


Example 3-







Example 1-


This candidate has used examples to demonstrate the benefits of being an active partner. They 
have provided a good response and have provided a range of benefits. A little more detail on the 
emotional benefits would have helped the candidate reach band 3. 4 marks band 2.
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8.	 Dorothy is a 78-year-old widow, who lives alone. She has recently been feeling socially
isolated.


(b)	 Dorothy has chosen to move into residential care. Her care worker has the responsibility
to inform Dorothy about all aspects of her care and encourage her to be an active 
partner in her care.


Explain the benefits of being an active partner on Dorothy’s well-being. 	 [5]


© WJEC CBAC Ltd.
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Question Answer AO1 AO2 AO3 Total 
mark 


9.  Analyse how support from early intervention and 
prevention methods can benefits babies and young 
children. 
 
Award up to 9 marks for a detailed analysis of how 
support from early intervention and prevention 
methods can benefit babies and young children. 
 
Answers may include the following methods: 
• Child screening programmes such as Personal 


child health record-PCHR (‘red book’), Newborn 
hearing, Newborn bloodspot Screening Wales, 
Cymru Well Wales: The First 1000 Days 
(F10000D) 


• Immunisation programmes for babies and children 
• Child health clinic services 
• Government initiatives such as Flying Start 
• Community involvement and support such as 


playgroups 
 
Answers will discuss how these methods benefit 
babies and young children: 
• Prevent, or at least delay, the use of formal health 


and social care, and childcare services. 
• Preventative methods stop the 


spread/severity/likelihood of catching disease 
• Early intervention means identifying and providing 


effective early support to children and young 
people who are at risk of poor outcomes 


• Early intervention works to reduce the risk factors 
and increase the protective factors in a child’s life 


• Effective early intervention works to prevent 
behavioural issues occurring and to tackle them 
head-on as they happen, before problems get 
worse. 


• Early identification of health issues leads to early 
referrals/less invasive treatment and better long-
term outcomes 


•  Improves chances of reaching milestones 
 
Credit any other reasonable answers. 
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Band AO1 AO3 


3 


3 marks 
A very good response which clearly 
describes both early intervention and 
prevention methods that can benefit babies 
and young children. 


5-6 marks 
An excellent analysis including reasoned 
judgements of how support from early 
intervention and prevention methods can 
benefit babies and young children. 


2 


2 marks 
A good response which describes early 
intervention and/or prevention methods 
that can benefit babies and young children. 


3-4 marks 
A good analysis including some 
judgements of how support from early 
intervention and prevention methods can 
benefit babies and young children. 


1 


1 mark 
A limited response which identifies 
methods of early intervention and/or 
prevention for babies and young children 


1-2 marks 
A basic analysis which shows some 
evidence of how support from early 
intervention and prevention methods can 
benefit babies and young children.  


 
0 marks 


Response not credit worthy or not 
attempted. 


0 marks 
Response not credit worthy or not 
attempted. 
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Example 1-


4 marks


This candidate has given a good response in AO1 as they have identified at least two early 
intervention and prevention methods. They have given a basic analysis of the benefits of early 
intervention and prevention for babies and young children. A more detailed explanation, showing 
reasoned judgements on the benefits would enable the candidate to achieve the higher band 
marks for this question. 4 marks band 2.


Example 2- 







This candidate has shown some understanding on the topic area but has provided a basic 
response on the benefits of being an active partner.
A more detailed response using further examples of the benefits would enable the candidate to 
reach the higher band marks. 2 marks band 1.


Q 9- 












This candidate has provided a very good response for AO1 which clearly identifies at least two 
methods of early intervention and prevention.  For AO3 they have provided a good analysis with 
judgements about the benefits of early intervention and prevention for babies and young 
children. A little more detail with further examples of benefits would have allowed the candidate 
to access band 3 for AO3. 6 marks band 3.


Example 3-







This candidate has shown some understanding on the topic area but has provided a basic 
response on the benefits of being an active partner.
A more detailed response using further examples of the benefits would enable the candidate to 
reach the higher band marks. 2 marks band 1.


Q 9- 












This candidate has provided a limited response for AO1 where they have only named one method 
of early intervention or prevention. They have however provided more detail on the benefits with 
judgements made about the impact of early intervention and prevention methods for babies and 
young children.  5 marks band 2







This candidate has shown some understanding on the topic area but has provided a basic 
response on the benefits of being an active partner.
A more detailed response using further examples of the benefits would enable the candidate to 
reach the higher band marks. 2 marks band 1.


Q 9- 
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9.	 Analyse how support from early intervention and prevention methods can benefit babies and 
young children.� [9]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


END OF PAPER












1 








2 








3 








1 








4 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


1 








2 








3 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


1 








Q4 







